REXABEZFELBEDIE

BM3 %7l
BM3 Series

HHER Characteristic features:
FKAEHERERFRIT, BEEESMEMERE R It adapts the gerolor design, which has a higher distribution accuracy and Mechanical
HE. efficiency.
WEshmA R, B E XM @A . Double-rolling bearing design, which has a greater lateral load capacity.
AT EIRT, REEES, ATUSEFEER. Credible design of shaft seal, which can bear higher pressure and be used in paraller
ERFEREAE. FEFRE. or in series.
MmO, Wik, FZEEERNK. Direction of shaft rotation and speed can be controlled easily and smoothly.

A variety of connection types of flange, output shaft and oil port.

FEMESH
Main Specification
#£8 (ml/r) Displacement 100 160 200 250 315 400
b mAEL Cont. 50 50 50 50 50 50

(LPM) Flow i8]

Int. 60 60 60 60 60 60

- |KHES  Cont. 450 281 226 180 147 121
(RPM)Speed | rpg Int. 540 337 272 216 177 142
) B|AELE  Cont. 14 12.5 12.5 12 12 11
(MPa)Pressure i3] Int.. 16 14 14 13 13 125
p—_— BAES Cont. 178 272 330 392 499 581
(N'm)Torque g5 Int.. 216 306 357 424 540 660

L RATEENEAARKES, BEENEITEEE.

-

. Intermittent means the entrance of the maximum pressure; continuous working

DA R RN ES X E DR SiEE T TIE pressure means the differential pressure.
_ 2. Motor should not work under the highest pressure and the maximum speed.
ysi E4TAT 184753
EHETARRNT, BATRES S TS@IT10% 3. The running time should not exceed 10% under intermittent working conditions.
HEFF R 68# T EE R IE iR, #E37-73c¢St,i5iEE 15018/13. 4. Recommending N68 anti-wear hydraulic oil, viscosity 37-73cSt, cleanliness

B LYEHIRS0° . 1ISO18/13.
Ok TR, MAESS TIEEHRIA0% TES 1. The Maximum working temperature is 80 °.

P— . . e . One hour running time under 40% of maximum working pressure is
DA BREHEEINPa, BRYAEBINa, BRI recommended before full capacity working.
St RE

~N o g B W
o o

=

The maximum allowable back pressure is 10MPa, but the recommended back
pressure should not exceed 5MPa.a leaking pipes is needed when exceeding.

21 << www.zs-hyd.com



S

EFHBE

Zhaosheng Hydraulic

BM3 &350k %S E
BM3 Performance Data

BM3-100 100ml/r
EH AP (Mpa)
[ s[5 |78 [10][13]15]
= g 35 | 59 | 83 | 97 | 121 | 147
E 75 | 74 | 72 | 70 | 69 | 66
= - 35 | 60 | 85 | 98 | 125 | 148 | 178
5 150 | 147 | 144 | 141 | 138 | 133 | 128
P 34 | 50 | 84 | 98 | 125 | 147 [ 170
- 207 | 202 | 198 | 194 | 189 | 183 | 178
= 4 33 | 57 | 82 | o5 | 123 | 143 | 168
282 | 276 | 270 | 267 | 264 | 258 | 248
a5 32 | 55 | 80 | 93 | 120 | 140 | 165
338 | 331 | 324 | 320 | 817 | 309 | 295
" 30 | 52 | 78 | 90 | 113 | 136
423 | 414 | 405 | 400 | 396 | 387
- o5 | 49 | 76 | 88 | 108 | 134
517 | 506 | 495 | 489 | 484 | 473
- 46 | 75 | 85 | 105
611 | 598 | 585 | 578
BM3-200 200ml/r
E/H AP (Mpa)
[ 3|5 |7 |8 | 10] 11]2s]
= 5 70 | 118 | 167 | 193 | 242 | 258
= 38 | 37 | 35 | 34 | 30 | 26
|
= 72 | 120 | 170 | 195 | 245 | 260 | 294
2 75 | 74 | 72 | 71 | 68 | 66 | 60
o
- 71 | 120 | 168 | 193 | 244 | 253 | 292
Bl 103 | 102 | 100 | 99 | 95 | 04 | 88
LS 5 70 | 118 | 166 | 191 | 242 | 251 | 288
141 | 140 | 138 | 137 | 134 | 131 | 126
a6 68 | 115 | 162 | 187 | 237 | 248 | 280
169 | 168 | 166 | 164 | 160 | 156 | 150
65 | 110 | 156 | 182 | 232 | 242
45 212 | 211 | 209 | 208 | 204 | 200
105 | 152 | 180 | 230 | 238
55 258 | 256 | 255 | 250 | 248
100 | 145 | 175 | 225
65 306 | 305 | 302 | 300

[(EZETHERX 8] B TEX
BM3-160 160ml/r
EA AP (Mpa)
s | s [7]8 |10 [15]
=| g 56 | 94 | 134 | 455 | 193
S 47 | 46 | 45 | 44 | 42
0
=| 4a 56 | 95 | 135 | 156 | 195 | 238
% 94 | 93 [ 91 | 90 | 85 | 82
L - 55 | 94 | 135 | 155 | 193 | 236 | 278
- 138 | 137 | 135 | 134 | 130 | 125 | 120
K2 56 54 | 93 | 135 | 154 | 193 | 235 | 275
176 | 175 | 173 | 170 | 166 | 160 | 156
- 53 | 92 | 133 | 153 | 191 | 282 | 270
212 | 211 | 210 | 209 | 205 | 300 | 195
a5 52 | 90 | 130 | 150 | 187 | 228
264 | 263 | 260 | 259 | 255 | 250
- 50 | 86 | 125 | 147 | 180
323 | 322 | 319 | 318 | 313
- 82 | 120 | 141
382 | 380 [ 378
BM3-250 250ml/r
£/ AP (Mpa)
|3|5|7|8|1o|11|12.5|
S| s 87 | 147 | 208 | 242 | 302
= 30 | 29 | 28 | 27 | 25
1
‘; 16 88 | 150 | 210 | 245 | 306 | 323 | 362
3 60 | 59 | 58 | 57 | 55 | 50 | 48
o
- 86 | 150 | 210 | 243 | 304 | 320 | 360
B 83 |82 |8 | 78|75 | 73| 70
AR - 84 | 148 | 208 | 240 | 300 | 315 | 355
113 | 112 | 110 | 109 | 105 | 03 | 100
- 80 | 143 | 203 | 235 | 295 | 310 | 351
135 | 134 | 132 | 131 [ 127 | 125 | 120
- 75 | 140 | 200 | 230 | 290 | 305
169 | 168 | 166 | 165 | 160 | 158
55 135 | 195 [ 225 | 284
206 | 205 | 203 | 200
o5 130 | 190 | 220
244 | 243 | 240

www.zs—hyd.com

>> 22



REXABEZFELBEDIE

[FEETERX T EEFIER

ESH AP (Mpa) E51 AP (Mpa)
s | a6 |8 | 10][125] [3 [ a6 |8 |0 [11]
gl & 110 | 148 | 225 | 305 | 380 S 139 | 188 | 286 | 387 | 485
= o4 | 23 | 21 | 17 | 13 = 19 [ 18 | 17 | 15 | 12
| |
=] 111 | 148 | 227 | 308 | 380 | 450 | 139 | 190 | 288 | 390 | 436 | 513
= a8 | 47 | a5 | a2 | 38 | 32 2 38 | 37 | 35 | 33 | 82 | a0
o o
55 110 | 147 | 226 | 307 | 379 | 448 " 138 | 188 | 288 | 390 | 485 | 510
o 66 | 65 | 63 | 61 | 58 | 50 OB 53 | 52 | 50 | 48 | 47 | 45
42 2
L 109 | 145 | 222 | 305 | 877 | 444 . 137 | 186 | 286 | 388 | 433 | 508
9 |89 |87 |85 | 81 | 77 71 | 70 | 68 | 66 | 64 | 60
a6 105 | 141 | 219 | 300 | 872 | 440 5 135 | 182 | 282 | 385 | 430 | 505
107 | 106 | 104 | 102 | 100 | 97 85 | 84 | 82 | 80 | 78 | 73
- 100 | 137 | 215 | 295 | @67 i 130 | 176 | 277 | a80 | 424
134 | 133 | 131 | 128 | 125 106 | 105 | 103 | 100 | 98
o 130 | 210 | 290 | 360 - 123 | 170 | 270 | 372
164 | 162 | 160 | 157 129 | 128 | 126 | 124
200 | 285 160 | 260
65 190 | 189 63 150 | 148

RPHIRAEERCSHIREREH, S0CHEBRE TN, FREBEERBEEI,

All the data was tested at 50°C with N68 anti-wear hydraulic oil.Actual data may vary slightly from unit to unit in production.

23 << www.zs-hyd.com



JEF i

Zhaosheng Hydraulic

S

BM3 & FlfrEBY & R~F
BM3 DIMENSIONS AND MOUNTING DATA

10| @100:5838
F/None 4-0313 Pilot| 2385 {05
/B

a:M22x1.5-6H | OA WOB T ittim A
b:M18x1.5-6H [PortA| ~ PortB) [Drain Port T|M14x1.5 & (Height) 7.5
— #® (Depth )\K 15
— \ \
L e
|
. | _Q
(A :E 3
:‘%
75 | [15]
62 46 L 120
L1
BN Shaft Load Capacity:
5%, Radial Load: 800Kg Max. HE= Displacement | 100 | 160 | 200 | 250 | 315 | 400
afi# Axi 3 3
AR Bt S0l L 18 | 288 | 37 |446| 55 | 72
ol L1 191 | 202 | 175 |217.6| 228 | 245
400 |
200
¢ 21 -10 0 10 20 28mm Eﬁﬁ}ﬁ}ﬁrﬁj'
i I EAT iR, AOEE, DikIRR SR,
Standard Direction of The Motor Rotation:

i CW----When A Port pressurized, Viewed From the Shaft End.
BM3 % Il % i 4 & 4 R~

BM3 DIMENSIONS AND MOUNTING DATA
4B 7L 42 6D-308%ix 26 x 8 FE 8x7x28 FHE 8x7x28

Rectangle Spline 4Parrllel 4Parrllel
s ’_@_1 1 \ _r— 1 1 \ pe
d=is © (0

!
041

M8(M12/M14
P5
S_g 3
Q300,041
28.0
205004

32 |5 20
4.5 36
45 . 385 |
7L 6D-308%x 26 x 8 FEFZTESRE 6D-2568x 22 x 6
Rectangle Spline Rectangle Spiine /
] 20 / !
57 {7
66.5
70

www.zs—-hyd.com >> 24



REXABEZFELBEDIE

BM3ZR 5IJEtREREZ R T

BM3 DIMENSIONS AND MOUNTING DATA

Tt O e ofosodgs
76 S BTN A U5 : Plorlgez 55 313
] 225,.,.225, \
ﬁ? ) ,
[ /4
/\ /1 m g <
\:// /\ %/ [ —
v
@ — o _@_ N
|| L !
55 [15 L 55
120

S EAE S Shaft Load Capacity:
2-022 | 2016, 2-M18x 1.5 2-012 Zm5i# Radial Load: 800Kg Max.

BhmfE; AxisLoad: 300Kg Max.
4 o
5 800
e
| w0 1
3 200
:’ 0 21 -10 0 10 20 28mm
] | ——
i i 1 - |
- L
e S L1 |
HEE Dipecenent | 100 | 160 | 200 | 250 | 315 | 400 DAt ‘
L 18 | 288 | 37 |446| 55 | 72 X s, AlOdR, DikIRRsHiEs,
L1 191 | 202 | 175 |217.6| 228 | 245 Standard Direction of The Motor Rotation:

CW----When A Port pressurized, Viewed From the Shaft End.

BM3 % %l 4y tH 5 i # R ~F

BM3 DIMENSIONS AND MOUNTING DATA

4B AE5E 6D-308%1x 26 x 8 T4 8x7x28 FHE 8x7x28
Rectangle Spline Parrllel W
$ 20 __ 4_.; / =
s " -gd3 Ry i
1 1 1 1 [
SHED 1 38 HED e
1 1| )
Sl T 20 20,
41.5 36 36
45 38.5 385
5T 7EEE 6D-308%ix 26 X 8 BT TE4E 6D-25881 22 X 6 SETSTESE 6D-30% 26 x 6
Rectanglggpline W Rectangle Spine
= iy 3 .20
i wol% é
= 2 SH
22 B %’ | —
57 {7 335 = 32 _5
665 | — 415
70 45

25 << www.zs-hyd.com



| JK T E

Zhaosheng Hydraulic

BM3 iTH&RIER

7= amFFE HE/ RS
E= i 5h j:: | 100 160 200 250 315 400
sonun g | | 1si-o0s0 | 1s1-00s1 | 1s1-o0s2 | 131-0053 | 131-0054 | 131-0055
‘335%% §§,f82 Tég;ﬁi;n;% 131-0070 131-0071 131-0072 131-0073 131-0074 131-0075
2 3 ]
e e | M5 | 1a1-0000 | 131091 | 131-oos2 | 131-0093 | 131-0094 | 131-0095
1 5 .
%@%@%ﬂx‘f Mzzgi.;l;j % | 131-1010 131-1011 131-1012 131-1013 131-1014 131-1015
— g'égm)‘“"g 131-1030 | 131-1031 131-1032 | 131-1033 131-1034 | 131-1035
41;:‘11:_1]3»?1'30 HhimIRAME MZZ:’Q%% % | 131-1060 131-1061 131-1062 131-1063 131-1064 131-1065
VA=l
iy | WS B tsi-te0 | 1a1-1131 | 131-1132 | 131-1138 | 131-1184 | 1811135
%g?%ggg%s M;g("m 3;(17’% 131-1070 131-1071 131-1072 131-1073 131-1074 131-1075
7 ; .
mﬂsi%—é%szs‘xze Mzz:@ﬁs&] % | 131-1020 131-1021 131-1022 131-1023 131-1024 131-1025
PV
Soo0ter '3';‘?‘-_),(,;‘13;(1 7% 131-1040 131-1041 131-1042 131-1043 131-1044 131-1045
bi 5
Le S UL Mzzﬁgﬁs[’] % | 131-1090 131-1091 131-1092 131-1003 131-1094 131-1095
orztis | Hisp-2mrooxs Mzﬁﬁ'ﬁﬁ‘] % | 131-1100 131-1101 131-1102 131-1103 131-1104 131-1105
3 15 1)
IERo8s | HhimRamS '_gf:’l(:hi;(ﬁ% 131-1120 131-1121 131-1122 131-1123 131-1124 131-1125
BMS3 Ordering Information
Feature Displacement/NO.
Flange Shaft Oil port 100 160 200 250 315 400
®25 Flat M22X1.5;
key:8;shaft drainport | 131-0050 131-0051 131-0052 131-0053 131-0054 131-0055
y p
thread:M8 M14X1.5
930 Flat M22X1.5;
key:8;shaft drainport | 131-0070 131-0071 131-0072 131-0073 131-0074 131-0075
y p
thread:M8 M14X1.5
¢32 Flat M22X1.5;
key:10;shaft | drainport | 131-0090 131-0091 131-0092 131-0093 131-0094 131-0095
thread:M8 M14X1.5
shaftéD-
30X26X6 shaft | M22X15; | 131-1010 131-1011 131-1012 131-1013 131-1014 131-1015
threadM14
M22X1.5;
. drainport | 131-1030 131-1031 131-1032 131-1033 131-1034 131-1035
30X26X6 shaft —M14X1.5
Bolt hole 4- threadM8
@13;Pilot M22X1.5; | 131-1060 131-1061 131-1062 131-1063 131-1064 131-1065
9100
ShafteD- M22X1 5;
30X26X6 shaft | drainport | 131-1130 131-1131 131-1132 131-1133 131-1134 131-1135
threadM 14 M14X1.5
shaft6D- M22X1.5;
30X26X8 shaft | drainport | 131-1070 131-1071 131-1072 131-1073 131-1074 131-1075
threadM8 M14X1.5
shaft6D-
30X26X8 shaft | M22X1.5; | 131-1020 131-1021 131-1022 131-1023 131-1024 131-1025
threadM12
M22X1 5,
<haft6D- drainport | 131-1040 131-1041 131-1042 131-1043 131-1044 131-1045
30X26X8 shaft —M14X1.5
threadM14 M22X1.5; | 131-1090 131-1091 131-1092 131-1093 131-1094 131-1095
—— — M22x15; | 131-1100 131-1101 131-1102 131-1103 131-1104 131-1105
¢ drainport | 131-1120 131-1121 131-1122 131-1123 131-1124 131-1125
M14X1.5

www.zs—hyd.com

>> 26




REXABEZFELBEDIE

BEHRE-BMIRFTiL

Type number—BM3 series motors

il 2 3 5 6
BM3
fIE 1 BM3RIGIX fIE 8 IEm
Position BM3 series motors Postion rotation direction
fiiZE 2 HECCR A, #RifE
Position  displacement standard

1. 100 B. &a

2, 160 opposite

3. 200

4, 250

5. 315

6. 400

g 3 E=FEDO
Position Flange and pilot

A, 4FLAREZ, 1EO ¢ 100X5mm

4 bolt Square—flange, pilot ¢ 100x5mm

B 4 Hit
Position  shaft
1. ¢ 25E %4, FH§8x7x28
¢ 25 straight shaft, flat key 8x7x28
2, ¢ 30EH, FiEsx7x28
¢ 30 straight shaft, flat key 8x7x28
3. %R TLEHH6D-30x26X8
Splined shaft 6D-30x26x8
4. FEF LB EH6D-30x26x6
Splined shaft 6D-30x26x6
5. fEWLRH6D-25x22x6
Splined shaft 6D-25x22x6
fiZ& 5 WO
Position oil port
A, M22x1.5
B. M18x1.5
fE 6 itikO
Position drain port
1. &
2, M14x1.5
3. G1/4
ME 7 BFHe

Position paint color

A, RIKF silver paint
B. &% blue

C. IxEH black

D. AREEHR no paint

27 << www.zs-hyd.com




